UBERSICHTSZEICHNUNG Y=/ == —2

ASSEMBLY DRAWING

OVERVOLTHT

OVERVOLT HT 9.7 / 9.7 MIX (MY22)

E-EXPLORER 9.7 / 9.7 MIX/ 8.7 / 8.7 MIX (MY22])
Datum: 08-12-2022

Version: 02

OVERVOLT HT 9.7/ 9.7 MIX/ E-EXPLORER 9.7 /9.7 MIX / 8.7 / 8.7 MIX (MY22)
date: 08-12-2022
version: 02

page 1/12



HOW TO USE EXPLODED VIEW

BOM-ID | Description Specification Torque QTY | Service Kit nr.
1 Counter sunk screw [Set] IS2 - M3 x 8 mm 1 Nm 2 | KHBO0025 & &

“ You can click on the logo ool.:"a blke
according to your part's @ Ffar!,:gﬁ/ —
p - - -

supplier. p
It will take you to the * k

purchase page.

39

JEU DE SUPPORTS ENTREE DE CABLES MOTEUR
. YAMAHA E-BIKE HAIBIKE ALLTRACK
118 GAUCHE/DROITE NOIR
2023



https://shop.accentry.com/COM/search?keyword=khb00025#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KHB00025#filter/&pageSize=24

UBERSICHTSZEICHNUNG Yy =/ =/ —2

ASSEMBLY DRAWING main frame

Hinweis: Bei den Schrauben muss
mittelfeste Gewindesiche-
rung verwendet werden.
Rote Flédchen missen ge-
fettet werden.

Note: use medium streng-
th screw lock for screw
threads.
red surfaces has to be
greased.

ﬁ » medium strength screwlock

OVERVOLT HT 9.7 /9.7 MIX / E-EXPLORER 9.7 / 9.7 MIX / 8.7 / 8.7 MIX (MY22)
date: 08-12-2022
version: 02

page 2/12




UBERSICHTSZEICHNUNG

L HPlENRWE

ASSEMBLY DRAWING main frame
BOM-ID | Description Specification Torque | Service kit aQTy
1 Counter sunk screw IS2 - M3 x 8 mm TNm KHB00035 (&  bike 2
2 Cable inlets left side kHBOOO3S & gl 2
3 Cable inlets right side KHBO0035 &  AE 2
4 Fork bumper KLPO0O31 & Rk 1
5 Cylinder head screw IS4 - M5 X 8 mm &6 Nm KLPO0O3T &5 kg 2
b Battery cover KLPO0033 &5 [ 1
7 Counter sunk screw IS2-M3x12mm TNm KLPO0033 &5 gk 2
8 Battery metal skidplate KLP00033 &  bike 1
9 Counter sunk screw [stainless steel] IS2 - M3 x 18 mm 1TNm KLP00033 & Mg 2
12 Charge port frame KHBO0075 & &g 1
13 0-ring charge port KHBO0075 & flke 1
14 Charge port cover KHBOOO75 &85 pae 1
15 Lens head screw TX10-M3 x 16 mm TNmM KLP00O17 & &'h% 2
16 Seatclamp [incl. cylinder head screw) @ 34,9 mm & e 1
17 Chain guide bracket KLPO00S9 s  Hg 1
18 Lens head screw [stainless steel) IS4 - M& x 10 mm 11 Nm KLPO0059 & -] 1
19* Chain guide (set incl. screw and nut) KLPO00S® &  Fikg 1
19* Cylinder head screw (set incl. chain guide and nut) | IS3 - M4 x 10 mm 3Nm KLPOO059 & fiKg 1
19+ Square nut (set incl. chain guide and screw) Mé KLPO00S? & Hikg 1
20 Lens head screw IS3-M5x12mm 6 Nm 2
21 Screw-on plate Bosch EB12.100.01E 1
22 Screw for screw-on plate T15- M3 x 7 mm 1.2 Nm Bosch EBI12.100.01G 2

OVERVOLT HT 9.7 /9.7 MIX / E-EXPLORER 9.7 / 9.7 MIX / 8.7 / 8.7 MIX [MY22]

date: 08-12-2022
version: 02

page 3/12


https://shop.accentry.com/COM/search?keyword=khb00035#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=khb00035#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=khb00035#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=khb00035#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=khb00035#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=khb00035#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=klp00031#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=klp00031#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=klp00031#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=klp00031#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=klp00033#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=klp00033#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=klp00033#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=klp00033#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=klp00033#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=klp00033#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=khb00075#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=khb00075#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=khb00075#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=khb00075#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=klp00017#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=klp00017#filter/&pageSize=24
https://shop.accentry.com/COM/articleDetails/1162234.044/2502064951
https://shop.accentry.com/WG/search?keyword=KLP00017#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=klp00059#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00059#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=khb00075#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=khb00075#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=klp00059#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00059#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=klp00059#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00059#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=klp00059#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00059#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=klp00059#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00059#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=klp00033#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=klp00033#filter/&pageSize=24

UBERSICHTSZEICHNUNG
ASSEMBLY DRAWING battery mount

L HPlENRWE

Hinweis: Bei den Schrauben muss
mittelfeste Gewindesiche-
rung verwendet werden.
Rote Fléchen missen ge-
fettet werden.

Note: use medium streng-
th screw lock for screw
threads.
red surfaces has to be
greased.

ﬁ » medium strength screwlock

OVERVOLT HT 9.7 /9.7 MIX / E-EXPLORER 9.7 /9.7 MIX / 8.7 / 8.7 MIX [MY22]
date: 08-12-2022
version: 02

page 4 /12




UBERSICHTSZEICHNUNG Y=/ == —2

ASSEMBLY DRAWING battery mount

BOM-ID | Description Specification Torgue Service kit QTyY
23 Battery holder adapter KLPOO0SO &  bike 1
24 Screw for battery holder adapter T20 - M4 x 16 mm 3Nm KLPO0022 & Qe &
25 Locking assembly kLPoOOIY & 1
26 Battery lock IT3 XPLUS KLPO006O & Mg 1
27 Cradle Bosch EB12.100.01U 1
28 Battery adapter Bosch EB12.100.015 1
29 Clampring Bosch EB12.100.02D 1
30 Damper foil poron plug Bosch EB12.100.01Z 1
31 Counter sunk screw IS3 - M5 % 12 mm 6Nm KLPOO06O &5 pikg 4
32 Rubber ring KLPO0028 485 fuke 1
33 Battery holder adapter top _ . KLPO00SO &  fiKS 1

OVERVOLT HT 9.7/ 9.7 MIX/ E-EXPLORER 9.7 /9.7 MIX / 8.7 / 8.7 MIX (MY22)
date: 08-12-2022
version: 02

page 5/12



https://shop.accentry.com/COM/search?keyword=KLP00060#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00060#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00022#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00022#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00060#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00060#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00019#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00019#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00060#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00060#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00028#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00028#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00060#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00060#filter/&pageSize=24

UBERSICHTSZEICHNUNG
ASSEMBLY DRAWING motor cover

L HPlENRWE

Hinweis: Bei den Schrauben muss
mittelfeste Gewindesiche-
rung verwendet werden.
Rote Fléchen missen ge-
fettet werden.

Note: use medium streng-
th screw lock for screw
threads.
red surfaces has to be
greased.

ﬁ » medium strength screwlock

OVERVOLT HT 9.7 /9.7 MIX / E-EXPLORER 9.7 / 9.7 MIX / 8.7 / 8.7 MIX [MY22)
date: 08-12-2022
version: 02

page 6 /12



UBERSICHTSZEICHNUNG

L HlEr~ewE

ASSEMBLY DRAWING motor cover
BOM-ID | Description Specification Torque | Service kit QTy
34 Motor cover right KLPO0033 & BifS 1
35 Motor cover left kLPo0033 {5 i 1
36 Counter sunk screw IS2.5 - M4 X 12 mm 3Nm KLP00033 & (S 4
37 Counter sunk screw 152.5 - M4 x 25 mm 3Nm KLPO0033 &5 ke 2
38 | Motor metal skidplate kLPo003s & K8 1
39 Counter sunk screw [stainless steel) IS25- M4 X 10 mm 3Nm KLPOO033 a8 ,E,'&; b
40 Motor bracket kLPOOOSI G5 I 1
41 Cylinder head screw [flat head) IS4 - Mé X 14 mm 11 Nm KLPOOOSI & (NS 4
42 Washer (stainless steel) 0 6.4 KLPOOOST & (g 4
43 Motor bracket Xplate KLPOOOST & (A8 1
A Screw for mounting connection plate T30 - Mé x 16 mm 13 Nm Bosch EBI1.200.00P 9
45 Lockring for BDU4XX Bosch 1270.014.085 1
L 0-Ring Bosch 1270.016.119 1
47 Motor bushing KLPOOOST 455  fame 2

OVERVOLT HT 9.7 /9.7 MIX / E-EXPLORER 9.7 /9.7 MIX / 8.7 / 8.7 MIX (MY22)

date: 08-12-2022
version: 02

page 7/12


https://shop.accentry.com/COM/search?keyword=KLP00033#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=klp00033#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00033#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=klp00033#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00033#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=klp00033#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00033#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=klp00033#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00033#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=klp00033#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00061#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=klp00061#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00061#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=klp00061#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00033#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=klp00033#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00061#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=klp00061#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00061#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=klp00061#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00061#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=klp00061#filter/&pageSize=24
https://youtube.com/shorts/xbwXDjkWb_A?feature=share

UBERSICHTSZEICHNUNG Yy =/ =/ —2

ASSEMBLY DRAWING rear frame

Hinweis: Bei den Schrauben muss
mittelfeste Gewindesiche-
rung verwendet werden.
Rote Flédchen missen ge-
fettet werden.

Note: use medium streng-
th screw lock for screw
threads.
red surfaces has to be
greased.

ﬂ » medium strength screwlock

OVERVOLT HT 9.7 /9.7 MIX / E-EXPLORER 9.7 / 9.7 MIX / 8.7 / 8.7 MIX (MY22)
date: 08-12-2022
version: 02

page 8/12



UBERSICHTSZEICHNUNG 4 LI~ i~

ASSEMBLY DRAWING rear frame

BOM-ID | Description Specification Torque Service kit aTy
41 Cylinder head screw [flat head) IS4 - Mé X 14 mm 11 Nm KLPO00S8 (&5 ke 1
42 Washer [stainless steel) 06,4 kPoooss {5 iR 1
48 UDH derailleur hanger + nut Don't grease the thread! | 25 Nm fiss 1
49 Sensor bracket kLP00035 (& gl 1
50 Clip holder Bosch 1270.016.038 1
51 Screw for clip holder Bosch 1270.016.148 1
52 Rear brake mount adapter KLPO00S8 & @S 1
53 Lens head screw TX25-M5x 8 mm 6 Nm KLP00035 & ;?Jﬁ; 1
55 Chainstay protector KLPO0030 i85 fae 1

OVERVOLT HT 9.7/ 9.7 MIX/ E-EXPLORER 9.7 /9.7 MIX [ 8.7 / 8.7 MIX [MY22)
date: 08-12-2022
version: 02

page 9/12


https://shop.accentry.com/COM/search?keyword=KLP00058#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00058#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00058#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00058#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00035#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00035#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00058#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00058#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00035#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00035#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=UDH#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00030#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00030#filter/&pageSize=24

UBERSICHTSZEICHNUNG
ASSEMBLY DRAWING E-EXPLORER carrier and fender

L HPlENRWE

Hinweis: Bei den Schrauben muss
mittelfeste Gewindesiche-
rung verwendet werden.
Rote Fléchen missen ge-
fettet werden.

Note: use medium streng-
th screw lock for screw
threads.
red surfaces has to be
greased.

ﬁ » medium strength screwlock

OVERVOLT HT 9.7 /9.7 MIX / E-EXPLORER 9.7 /9.7 MIX / 8.7 / 8.7 MIX [MY22]
date: 08-12-2022
version: 02

page 10/12




UBERSICHTSZEICHNUNG Yy =/ ===/ —2

ASSEMBLY DRAWING E-EXPLORER carrier and fender

BOM-ID | Description Specification Torque | Service kit QTy
56 Cylinder head screw IS5 - Mé X 20 mm 11 Nm KLPO0036 &  bike 2
57 Self locking nut Mé KLPOOO3S &  diKe 2
58 Mudguard plastic plug @12 mm KLPO0029 & Hike 4
59 Mudguard cylinder head screw IS4 - M5 x 10 mm 6 Nm KLPO0029 &  fike 2
60 Mudguard cylinder head screw IS4 - M5 X 35 mm 6Nm KLPO0029 &5 ke 1
61 Mudguard cylinder head screw IS4 - M5 X 25 mm 6 Nm KLP00029 & diKg 1
62 Mudguard spacer @12x55x%17 mm KLP00029 &5 kg 2
63 Mudguard self locking nut with flange M5 KLPOO029 & g 1
b4 Carrier 27,5 I-CARUS KLPO0036 &85  fikg 1
65 Mudguard Set 27,5 KLPO0029 &5 (kg 1
b6 Kickstand adaptor KLPO00S7 & N8 1
67 Cylinder head screw [flat head) TX25 - M5 X 14 mm 6 Nm KLPO0057 & S 1
48 Washer @ 5,3 mm KLPO0057 48 (e 1
69 Counter sunk screw TX25 - M5 X 35 mm & Nm KLPOO057 & &hfs_ 1

OVERVOLTHT 9.7/ 9.7 MIX / E-EXPLORER 9.7 / 9.7 MIX/ 8.7 / 8.7 MIX [MY22)
date: 08-12-2022
version: 02

page 11/12


https://shop.accentry.com/COM/search?keyword=KLP00036#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00036#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00036#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00036#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00029#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00029#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00029#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00029#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00029#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00029#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00029#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00029#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00029#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00029#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00029#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00029#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00036#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00029#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00029#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00057#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00057#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00057#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00057#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00057#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00057#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00057#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00057#filter/&pageSize=24

UBERSICHTSZEICHNUNG Y =)= == /= —2

ASSEMBLY DRAWING

FACT SHEET:
SHOCK LENGTH:  ceee- DROPPER SEATPOST READY: YES
SHOCK HARDWARE TOP:  —-ee- WATTERBOTTLE MOUNT: 1% 0,75 L
SHOCK HARDWARE BOTTOM: ~ —=--- MAXIMUM PERMISSIBLE TOTAL WEIGHT: 120 KG
HEADSET TOP: 7S 56 MAXIMUM TIRE SIZE:
HEADSET BOTTOM: ZS 56 , Size S:27,5"
PhEEL 2k Size M / L/ XL: 29"
SEATPOST DIAMETER: 31,6 MM
QUICK RELEASE LENGTH: 180 MM
CLAMP INNER DIAMETER: 34,9 MM
OVER-LOCKNUT DIMENSION (0.L.D.): 148 MM
BOTTOM BRACKET:  —eee-
FDCLAMPSIZE: e
| : 1 i
KICKSTAND KSA 18 (Adapter required) o TYPE.
e = T BOSCH PERFORMANCE
CARRIER MOUNT: YES ' LINE CX
FENDER COMPATIBLE: YES BATTERY: BOSCH POWER TUBE 750 WH
BOSCH LED REMOTE
WisEiAl: BOSCH KIOX

OVERVOLT HT 9.7/ 9.7 MIX/ E-EXPLORER 9.7 /9.7 MIX / 8.7 / 8.7 MIX (MY22)
date: 08-12-2022
version: 02

page 12/12




